a={{-2,3,1}, {3, 4, -1}}

{{-2, 3, 1}, {3, 4, -1}}
MatrixForm[a]

-2 3 1

(3 4 —1)
b={{4,0, -1}, {1, -1, 2}}
{{-2, 3, 1}, {3, 4, -1}}
{{4, 0, =13}, {1, -1, 2}}
MatrixForm[b]

(4 0 71)

1 -1 2
a+a // MatrixForm

-4 6 2

[ 6 8 —2)
b-b // MatrixForm

{O 0 O)

0 0 O
3a // MatrixForm

-6 9 3

{ 9 12 73)
a.b // MatrixForm
Dot:dotsh : Tensors {{-2, 3, 1}, {3, 4, —1}} and {{4, 0, -1}, {1, -1, 2}} have incompatible shapes. >
{{’21 3/ l}l {3/ 4/ ’1}}'{{41 O/ ’l}l {l/ *1/ 2}}

b? // MatrixForm

(1601)
1 1 4

IdentityMatrix[4] // MatrixForm

1 000
01 00
0 010
0 001

DiagonalMatrix[{x, y, z, s}] // MatrixForm

o o o X
o ox O
o N O O
n o o o
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c={{1, 2, 3}, {2, -1, -3}, {7, 8, -9}}

{{l, 2/ 3}/ {21 71/ 73}/ {71 8/ 79}}

Inverse[c] // MatrixForm

11 7

32 16 32
1 5 3

"2 16 32
23 1 5
9% 16 96

Transpose[c] // MatrixForm

1 2
2 -1 8
3 -3 -9
c={{1, 2, 3}, {2, -1, -3}, {7, 8, -9}}

{{1r 21 3}r {21 _11 _3}1 {71 8! _9}}

Det[c]

96

MatrixForm|[c]

12 3
7 8 -9
cl[2]1]

{2, -1, -3}
clf2, 3]]

-3

c[[3]] =2=xc[[2]] -c[[1]]

{31 *41 79}



